ohe A7) 5 Vg 2 AL
@tan 45° @ sin40° ® sin45°
@ cos30° ® cos40°

cos 30° = 0.8660, sin40° = 0.6428
sin45° = 0.7071, cos40° = 0.7660
tan45° = 1.000




(5sin90° — 2cos0°) x (2tan45° — 5co0s90°) 2] ZE X, 10cos0° +
5tan45° x 2sin90° o] gk ¥ 2 & of, X + ¥ 9 g2

@ @9 ® 0 @ 1 ® 3

X=(5-2)x(2-5%x0)=3x2=6
Y=10+5x2=40]B%
X+Y=6+4=10




45° < x<90° 4 o, V1 - 2sinxcosx+ V1 + 2sin xcos x & 7HH5]
S}H?

—sinx @ -2sinx ® sinx

©)
@2sinx ® 3sinx

B ~

45° < x<90° ¥ W, 0 < cosx < sinx ©|22
V1 —2sinxcosx + V1 + 2sin xcosx
= /sin2 x + cos? x — 2sin x cos x

-+ \/sin2x+ cos? x + 2sin x cos x

= /(sinx — cosx)? + /(sinx + cos x)?
= (sinx — cos x) + (sin x + cos x)

= 2sinx




0°<A<90°df, o2 F 22 727

@ A9 gho] Z7¥sHA sin A 9] L2 At
@ A°] 3ol ZAash tan A 9] 32 F7HRICE
@)cos A 9] 57k 0, AUZLL 1o]ek,
@ tan A 9] ZZ=gh2 0, AL 100

© sin A ©] gt} cos A 9] gho] EopAE 7= /i

B

@ A 9] gho] Z71otd sin A 9] g2 S7Hettt.
@ A 9] gho] 459 tan A 9] g2 FAgich

@ tan A ] 25352 0, HAE glet

® sin A &] gt cos A 9] gho] ZotAlE -7t Ut

lo




2 A9 EE HI tan15° X cos43° X tan75° + cos 75° X
1

x tan 15° 9] ZH& HL5hof et

sin15°

T sinz COST tanz
15° 0.2588 0.9659 0.2679
43 0.6820 0.7314 0,9325

>
> =l 0.9993

tan75° = ! = L
~ tan(90°-75°) tanl5°

sin 15° = cos(90° - 15°) = cos 75 °
1
tan 15 °

(+4]) = tan 15° x cos 43 ° x

+ cos 75 ° X X tan 15°

cos75°
=cos43°+tan15°
= 0.7314 + 0.2679 = 0.9993




